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1. #:��	<4
��
�	��
���6�	��7�� ����	
���	��	
	  

 
 $E'%�'����������4� )*��=*�8"� )����!.�2=��$9��J'3�� F3+�"�� ��=*�8"� )*����8*,�.
������� 7��'���4�������8*����*���6�!= �)*�'�+��8����+��1� ��3E' 10 20 30 40 F3+ 50 
�(33(��4� ����*!=*��9�. �'3.*��03���$�J*(�3T�4�*�F11!=*�'���  

��''��$E'%�'����������4� )*��=*�8"�����+��1� ��3E' 10 20 30 40 F3+ 50 �(33(��4� 
�1 =� �=*�8"���'����������4� F11'�+���'�+��� 7������+��1� ��3E' 10 �(33(��4� ��'�� ��4� 
F11�(�'����'' =�6��+��1� ��3E' 20 30 40 F3+ 50 �(33(��4� 4��3"���1 DE���=*�8"���'�� ��4� 
F11�����  F11�9=F3+F11'30=� F4=�1 =� ����+��1� ��3E' 10 20 30 F3+ 40  �(33(��4��=*�8"��+��
'�� ��4� F11�9=F3+ F11'30=���'' =�F11����� F4=����+��1� ��3E' 50 �(33(��4���'�� ��4� F11
����� ��'' =�F11'30=� (H����� 4) !"�G��1)����!.�2=��$9��J'3��)*��=*�8"� �1 =�����+��1� ��3E' 
10 �(33(��4� ��)����!.�2=��$9��J'3��)*��=*�8"�6G#=���!0���* 428.57 ,�7����4� �*�3������
�+��1� ��3E' 20 30 40 F3+ 50 �(33(��4� 4��3"���1 (H����� 5 4������� 1) 
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H1 H2 H3 H4 H5 

A 

 
                

                                             
 
                                      
 

                                              
 
                        ,	���� 4 H��4��) �� (A) F3+4��4����  (B) )*��=*�8"���''3.*��03���$�J*(�3T�4�*�F11!=*�'��� 
                        - '����������4� )*��=*�8"�)*�4.����������'��3�*',�. ����+��1� ��3E' 10 �(33(��4� (H1,V1) 20 �(33(��4� (H2,V2)  

 30 �(33(��4� (H3,V3) 40 �(33(��4� (H4,V4) F3+ 50 �(33(��4� (H5,V5) ��'��3�*',�. ('"�3��)��� ×50) 

V1 V2 V3 V4 V5 

�������/� 

�������/� 

B 
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A 

          
         

                                                    
     
                          
     
 

                                                  
 

,	���� 5 H��4��) �� (A) F3+4��4����  (B) )*��=*�8"���''3.*��03���$�J*(�3T�4�*�F11!=*�'��� 
- )���)*��=*�8"�)*�4.����������'��3�*',�. ����+��1� ��3E' 10 �(33(��4� (H1,V1)  20 �(33(��4� (H2,V2)  
  30 �(33(��4� (H3,V3) 40 �(33(��4� (H4,V4) F3+ 50 �(33(��4� (H5,V5) ��'��3�*',�. ('"�3��)��� ×300) 

          
                

�������/� H1 H2 H3 H4 H5 

�������/� V1 V2 V3 V4 V5 

B 
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����*�����1����1)����!.�2=��$9��J'3�� F3+�+�+G=���+G =���=*�8"� )*����8*,�.������� 
6�!= �)*�'�+��8����+��1� ��3E' 10 20 30 40 F3+ 50 �(33(��4� 6G.23���4������� 1 
 

	
	���� 1 )����!.�2=��$9��J'3�� F3+� ��G��F�=�)*��=*�8"�6����8*,�.�������6�!= �)*� 

'�+��8����+��1� ��3E'4=��K 
 
  �+��1� ��3E'        �!.�2=��$9��J'3���=*�8"�!= ����' .�����!0�            � ��G��F�=��=*�8"� 
        (��.)                                       (,�7����4�)                                (�=*4=*��8���� 4 4�.��.) 
 
        10                         428.57± 96.09a                                          7±2a 
        20                         341.67± 38.19ab                  6±1a 
        30                         336.67± 23.09ab                  5±1b 
        40                         275.00± 25.00b                    5±1b 
        50                         258.33± 38.19b                    4±1b 
     F-Test                                       *                                                         ** 
     C.V.(%)                        16.06                                                    15.40                  

 
G����G40 
      * :  ��� ��F4'4=��'�����!-(4(*�=�������!"���#���!-(4(����+��1 P≤ 0.05 
    ** : ��� ��F4'4=��'�����!-(4(*�=�������!"���#���!-(4(����+��1 P≤ 0.01 
    �=��L3������'"�'�1�. �*�'%��= �'��6�F4=3+!��HJ,�=��� ��F4'4=�����!-(4(��''�������1����1 
          �����1����1�=��L3���7�� (5� LSD.05  

 
4������� 1 �1 =� �!.�2=��$9��J'3���L3�������+��1� ��3E' 10 �(33(��4� ��)���)*��=*�8"�

6G#=���!0���* 428.57 ,���*� F3+����+��1� ��3E' 50 �(33(��4� ��)���)*��=*�8"��3T'���!0���* 
258.33 ,���*� 7���!.�2=��$9��J'3���L3�������+��1� ��3E' 10 20 F3+ 30 �(33(��4� �1 =� ,�=��
� ��F4'4=��'�����!-(4( ����+��1� ��3E' 20 30 40 F3+ 50 �(33(��4� �1 =� ,�=��� ��F4'4=��
���!-(4(��=�'�� F4=����+��1� ��3E' 10 �(33(��4� �1 =� ��� ��F4'4=��'��'�1����+��1� ��3E' 40 
F3+ 50 �(33(��4� F3+�"�� ��=*�8"�4=*��8���� 4 4�����(33(��4� �1 =� ����+��1� ��3E' 10 F3+ 20
�(33(��4� ���"�� ��=*�8"�,�=F4'4=��'�����!-(4( 7�����"�� ��=*�8"�G��F�=���'' =� DE�����"�� �
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              8:00      9:00    10:00   11:00   12:00    13:00   14:00   15:00    16:00   17:00    18:00 

�L3��� 7 F3+ 6 �=* 4��3"���1  F3+�1 =� ��� ��F4'4=��'�����!-(4('�1����+��1� ��3E' 30 40 F3+ 
50 �(33(��4� DE�����"�� ��=*�8"��L3��� 5 5 F3+ 4 �=* 4��3"���1  

����*�"�'�� ��*�4��'��,G3)*��8"�6��*1 ��)*�3"�4.������'���/'G�  ������+��1� ��3E'
F4'4=��'�� �1 =� ����+��1� ��3E' 10 �(33(��4� ��*�4��'��,G3)*��8"�!9�!0�DE�����=� 42.11 3(4�
4=*4.�4=* �� �*�3�������+��1� ��3E' 20 �(33(��4� DE�����=�*�4��'��,G3)*��8"� 35.12 3(4�4=*4.�
4=* �� F3+����+��1� ��3E' 30 �(33(��4� ���=�*�4��'��,G3)*��8"� 28.38 3(4�4=*4.�4=* �� (4����
2� '��� 1) ����*!���'43�'%:+*�4��'��,G3)*��8"�6��= ��*1 �� �1 =� *�4��'��,G3)*��8"�6�3"�
4.��=*�K ��(��!9�)E8���'�= ���.������=�!9�!0�6��= �'3�� ��F3+�=*�K 3�3�����*��(��:F!�3�3�
6��= ���T� (H����� 6)  
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

,	���� 6 �=��L3���*�4��'��,G3)*��8"�6�3"�4.������������+��1� ��3E'���8*,�.F4'4=��'����* 10 20 
F3+30 �(33(��4� 6� ����� 22-24 '�'i��� 2549 ( �!.�4�8� G���-E� �=� LSD .05) 

 (     �     10 ��      �     20 ��        �     30 ��) 
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�L3���      23.59                        0.52            11.80                   438.22                          0.58         0.42 

2. 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	 �,	��	�	# �
�/	�-�� -���	

������     

�	��
�
����	 

 

2.1  ��/2���6�A	�1��	
�
�����	
4�	���47	��

	�	
�0� ���6�	1���	
�� 

 
�!.�2=��$9��J'3��)*�3"�4.� )���!= �4=��K )*�3"�4.� ��8����'�+��8 F3+�=� volume 

fraction )*��8"�F3+���8*,�. ����*6�.6�'����+'*1'���"�� :*�4��'��,G3)*��8"�6�3"�4.� F!��
6�4������� 2  

 

	
	���� 2 �=��L3����!.�2=��$9��J'3��)*�3"�4.� != �4=��K )*�3"�4.� ��8����'�+��8 F3+�=� volume 

fraction )*��8"�F3+���8*,�.  
 
   4.�   �!.�2=��$9��J            3"�4.� (D�.)                     ��8����'�+��8                  Volume fraction 
    ���    '3��3"�4.�            ��3�*',�.       '�+��8                 (31.D�.)                      Vw            Vh 
                 (D�.)           
    1          21.33                         0.5             10.17                   324.77                         0.57         0.43 
    2          23.25                         0.5             11.13                   388.87                         0.59         0.41 
    3          25.62                         0.6             12.21                   568.12                         0.57         0.43 
    4          25.79                         0.5             13.40                   563.82                         0.58         0.42 
    5          21.97                         0.5             10.49                   345.53                         0.59         0.41 
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��	�&.

2.2 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	 �,	��	�	# �
�/	�-�� -���	



�������	��
�
����	 

 

2.2.1 �,	��	�	# 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
,	���� 7 ).*�93*040�(�� (����+G =�����*��'����-E����*�'�'i��� 2549  
 
 ).*�93��(��:�8"�O� �=�'���+�G�)*��8"� F3+*0:GH9�(!9�!0�-4�"�!0� 6��= ����*��'����
-E����*�'�'i��� 2549 ��'!-���4� �*�'�$�*G�!J �. !�)3� �+�GT� =�!H��H9�(*�'�$6��= �
���*��'����-E����*�'�'i��� ��*0:GH9�(!9�!0�-4�"�!0����=�6'3.�����'��43*�'����3*� 6����*�
��%��� ����(��:�8"�O�� �6��= ��*1���*�!9�!0� ��,�. 192.6 �(33(��4� 6�):+������*������� 
���=�'���+�G�)*��8"�� �6��= ����*�  ��,�. 159.9 �(33(��4� (H����� 7) 
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2.2.2 �
�/	�-��-���	

�������	��
�
����	�.���/��	4/ 
 

����* ��'��4*1!�*����!��� (���6��*1 �� (8:00-16:00 �.) )*� ����� 15 
������ 2549 6�F4=3+!(����3*� �1 =� '����3����F�3��=�'����'�"���'61 �=�$�'�J�8"�6�61 F3+
�=�*�4��'��,G3)*��8"� 4*1!�*�4=*��(��:F!�6��= ��*1 �� DE����(��:F!�!9�!0����� 3� 
12:00 �. ���=��L3��� 962.4 ,�7��7�34=*4������4�4=* (���� (H����� 8')7���=�'����'�"���'61 
F3+*�4��'��,G3)*��8"� �=*�K ��(��)E8���'�= ���.�����*��(��:F!�!9�)E8�F3+!9�!0�6��= ������� 
��'��8�����*��(��:F!�3�3� �=��+�=*�K 3�3���-E��= ���T� F4=�=�$�'�J�8"�6�61 ��� ��!�����5J6�
�($���4��).�� ��* ����*��(��:F!���(��)E8� �=��+�=*�K 3�3���'�= ���.�F3+3�3�4�"�!0�6��= �
������ ��'��8��=��+�=*�K ��(��)E8�*�'���8�����*��(��:F!�3�3�6��= ���T�  

����*�����1����16�F4=3+!(����3*� �1 =� 4.����6G.�8"� 1.0 ETc �+6G.�=�'����'
�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����
,�=6G.�8"� DE�����=� '����'�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�4�"�!0� (H����� 8) 7���=�
'����'�"���'61���=�!9�!0�6��= �� 3� 10:00 �. DE�����=� 890 �(33(7�34=*4������4�4=* (���� 
(H����� 8)) �=�$�'�J�8"�6�61���=�4�"�!0�6��= �� 3� 12:00 �. ���=� -0.35 ��''+��!��3 (H����� 8�) 
F3+�=�*�4��'��,G3)*��8"� ���=�!9�!0�6��= �� 3� 12:00 �. ��=�'�� 7��4.������*�4��'��,G3)*�
�8"�!9�!0����=� 8.1 3(4�4=*��� 7�� !"�G��1��(��:'��6�.�8"�6��*1 �� (8:00 � 16:00 �.) 4.����6G.�8"� 
1.0 ETc ����(��:'��6�.�8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE�����=� 63.13 
56.51 F3+ 49.76 3(4� 4��3"���1 (H����� 8�) 
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,	���� 8 '��4*1!�*����!��� (���6��*1 ��)*� ����� 15 ������ 2549 ��(��:F!� (') 
 �=�'����'�"���'61 ()) �=�$�'�J�8"�6�61 (�) F3+�=�*�4��'��,G3)*��8"� (�)   
(     �     T1 : ,�=��'��6G.�8"�      �     T2 : 1.0 ETc        �     T3 : 0.5ETc) 
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2.2.3 �
�/	�-��-���	

�������	��
�
����	�.����/�	�� 
 

����* ��'��4*1!�*����!��� (���6��*1 �� (8:00-16:00 �.) )*� ����� 15 
��%��� 2549 6�F4=3+!(����3*� �1 =� '����3����F�3��=�'����'�"���'61 �=�$�'�J�8"�6�61 F3+
�=�*�4��'��,G3)*��8"� 4*1!�*�4=*��(��:F!�6��= ��*1 �� DE����(��:F!�!9�!0����� 3� 
12:00 �. ���=��L3��� 1,152 ,�7��7�34=*4������4�4=* (���� (H����� 9')7���=�'����'�"���'61 
F3+*�4��'��,G3)*��8"��=*�K ��(��)E8���'�= ���.�����*��(��:F!�!9�)E8�F3+!9�!0�6��= ������� 
��'��8�����*��(��:F!�3�3� �=��+�=*�K 3�3���-E��= ���T� F4=�=�$�'�J�8"�6�61 ��� ��!�����5J6�
�($���4��).�� ��* ����*��(��:F!���(��)E8� �=��+�=*�K 3�3���'�= ���.�F3+3�3�4�"�!0�6��= �
������ ��'��8��=��+�=*�K ��(��)E8�*�'���8�����*��(��:F!�3�3�6��= ���T�  

����*�����1����16�F4=3+!(����3*� �1 =� 4.����6G.�8"� 1.0 ETc �+6G.�=�'����'
�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����
,�=6G.�8"� DE�����=� '����'�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�4�"�!0� (H����� 9) 7���=�
'����'�"���'61���=�!9�!0�6��= �� 3� 10:00 �. DE�����=� 840 �(33(7�34=*4������4�4=* (���� 
(H����� 9)) �=�$�'�J�8"�6�61���=�4�"�!0�6��= �� 3� 12:00 �. ���=� -0.55 ��''+��!��3 (H����� 9�) 
F3+�=�*�4��'��,G3)*��8"� ���=�!9�!0�6��= �� 3� 12:00 �. ��=�'�� 7��4.������*�4��'��,G3)*�
�8"�!9�!0����=� 6.62 3(4�4=*��� 7�� !"�G��1��(��:'��6�.�8"�6��*1 �� (8:00 � 16:00 �.) 4.����6G.�8"� 
1.0 ETc ����(��:'��6�.�8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE�����=� 46.42 
41.07 F3+ 40.06 3(4� 4��3"���1 (H����� 9�) 
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,	���� 9 '��4*1!�*����!��� (���6��*1 ��)*� ����� 15 ��%��� 2549 ��(��:F!� (')  
�=�'����'�"���'61 ()) �=�$�'�J�8"�6�61 (�) F3+�=�*�4��'��,G3)*��8"� (�)  

 (     �     T1 : ,�=��'��6G.�8"�      �     T2 : 1.0 ETc        �     T3 : 0.5 ETc) 

� 
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2.2.4 �
�/	�-��-���	

�������	��
�
����	�.����"�,	4/ 
 

����* ��'��4*1!�*����!��� (���6��*1 �� (8:00-16:00 �.) )*� ����� 15 
�o%H��� 2549 6�F4=3+!(����3*� �1 =� '����3����F�3��=�'����'�"���'61 �=�$�'�J�8"�6�61 
F3+�=�*�4��'��,G3)*��8"� 4*1!�*�4=*��(��:F!�6��= ��*1 �� DE����(��:F!�!9�!0����� 3� 
12:00 �. ���=��L3��� 1,003 ,�7��7�34=*4������4�4=* (���� (H����� 10') 7���=�'����'�"���'61 
F3+*�4��'��,G3)*��8"� �=*�K ��(��)E8���'�= ���.�����*��(��:F!�!9�)E8�F3+!9�!0�6��= ������� 
��'��8�����*��(��:F!�3�3� �=��+�=*�K 3�3���-E��= ���T� F4=�=�$�'�J�8"�6�61 ��� ��!�����5J6�
�($���4��).�� ��* ����*��(��:F!���(��)E8� �=��+�=*�K 3�3���'�= ���.�F3+3�3�4�"�!0�6��= �
������ ��'��8��=��+�=*�K ��(��)E8�*�'���8�����*��(��:F!�3�3�6��= ���T�  

����*�����1����16�F4=3+!(����3*� �1 =� 4.����6G.�8"� 1.0 ETc �+6G.�=�'����'
�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����
,�=6G.�8"� DE�����=� '����'�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�4�"�!0� (H����� 10) 7��
�=�'����'�"���'61���=�!9�!0�6��= �� 3� 10:00 �. DE�����=� 810 �(33(7�34=*4������4�4=* (���� 
(H����� 10)) �=�$�'�J�8"�6�61���=�4�"�!0�6��= �� 3� 12:00 �. ���=� -0.5 ��''+��!��3 (H����� 10�) 
F3+�=�*�4��'��,G3)*��8"� ���=�!9�!0�6��= �� 3� 12:00 �. ��=�'�� 7��4.������*�4��'��,G3)*�
�8"�!9�!0����=� 6.13 3(4�4=*��� 7�� !"�G��1��(��:'��6�.�8"�6��*1 �� (8:00 � 16:00 �.) 4.����6G.�8"� 
1.0 ETc ����(��:'��6�.�8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE�����=� 47.38 
44.32 F3+ 32.84 3(4� 4��3"���1 (H����� 10�) 
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,	���� 10 '��4*1!�*����!��� (���6��*1 ��)*� ����� 15 �o%H��� 2549 ��(��:F!� (')  

�=�'����'�"���'61 ()) �=�$�'�J�8"�6�61 (�) F3+�=�*�4��'��,G3)*��8"� (�)  
    (     �     T1 : ,�=��'��6G.�8"�      �     T2 : 1.0 ETc        �     T3 : 0.5 ETc) 

� 

  

� 
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2.2.5 �
�/	�-��-���	

�������	��
�
����	�.���/�=&�	�� 
 

����* ��'��4*1!�*����!��� (���6��*1 �� (8:00-16:00 �.) )*� ����� 5 
�(-0���� 2549 6�F4=3+!(����3*� �1 =� '����3����F�3��=�'����'�"���'61 �=�$�'�J�8"�6�61 F3+
�=�*�4��'��,G3)*��8"� 4*1!�*�4=*��(��:F!�6��= ��*1 �� DE����(��:F!�!9�!0����� 3� 
12:00 �. ���=��L3��� 855.33 ,�7��7�34=*4������4�4=* (���� (H����� 11') 7���=�'����'�"���'61 
F3+*�4��'��,G3)*��8"� �=*�K ��(��)E8���'�= ���.�����*��(��:F!�!9�)E8�F3+!9�!0�6��= ������� 
��'��8�����*��(��:F!�3�3� �=��+�=*�K 3�3���-E��= ���T� F4=�=�$�'�J�8"�6�61 ��� ��!�����5J6�
�($���4��).�� ��* ����*��(��:F!���(��)E8� �=��+�=*�K 3�3���'�= ���.�F3+3�3�4�"�!0�6��= �
������ ��'��8��=��+�=*�K ��(��)E8�*�'���8�����*��(��:F!�3�3�6��= ���T�  

����*�����1����16�F4=3+!(����3*� �1 =� 4.����6G.�8"� 1.0 ETc �+6G.�=�'����'
�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����
,�=6G.�8"� DE�����=� '����'�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�4�"�!0� (H����� 11) 7��
�=�'����'�"���'61���=�!9�!0�6��= �� 3� 10:00 �. DE�����=� 600 �(33(7�34=*4������4�4=* (���� 
(H����� 11)) �=�$�'�J�8"�6�61���=�4�"�!0�6��= �� 3� 12:00 �. ���=� -0.3 ��''+��!��3 (H����� 11�) 
F3+�=�*�4��'��,G3)*��8"� ���=�!9�!0�6��= �� 3� 12:00 �. ��=�'�� 7��4.������*�4��'��,G3)*�
�8"�!9�!0����=� 5.65 3(4�4=*��� 7�� !"�G��1��(��:'��6�.�8"�6��*1 �� (8:00 � 16:00 �.) 4.����6G.�8"� 
1.0 ETc ����(��:'��6�.�8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE�����=� 43.89 
38.53 F3+ 33.67 3(4� 4��3"���1 (H����� 11�) 
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,	���� 11 '��4*1!�*����!��� (���6��*1 ��)*� ����� 5 �(-0���� 2549 ��(��:F!� (')  

�=�'����'�"���'61 ()) �=�$�'�J�8"�6�61 (�) F3+�=�*�4��'��,G3)*��8"� (�)  
 (     �     T1 : ,�=��'��6G.�8"�      �     T2 : 1.0 ETc        �     T3 : 0.5 ETc) 

� 
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2.2.6 �
�/	�-��-���	

�������	��
�
����	�.����
�;	4/ 
 

����* ��'��4*1!�*����!��� (���6��*1 �� (8:00 � 16:00 �.) )*� ����� 15 
'�'i��� 2549 6�F4=3+!(����3*� �1 =� '����3����F�3��=�'����'�"���'61 �=�$�'�J�8"�6�61 
F3+�=�*�4��'��,G3)*��8"� 4*1!�*�4=*��(��:F!�6��= ��*1 �� DE����(��:F!�!9�!0����� 3� 
12:00 �. ���=��L3��� 695.87 ,�7��7�34=*4������4�4=* (���� (H����� 12') 7���=�'����'�"���'61 
F3+*�4��'��,G3)*��8"� �=*�K ��(��)E8���'�= ���.�����*��(��:F!�!9�)E8�F3+!9�!0�6��= ������� 
��'��8�����*��(��:F!�3�3� �=��+�=*�K 3�3���-E��= ���T� F4=�=�$�'�J�8"�6�61 ��� ��!�����5J6�
�($���4��).�� ��* ����*��(��:F!���(��)E8��=��+�=*�K 3�3���'�= ���.�F3+3�3�4�"�!0�6��= �
������ ��'��8��=��+�=*�K ��(��)E8�*�'���8�����*��(��:F!�3�3�6��= ���T�  

����*�����1����16�F4=3+!(����3*� �1 =� 4.����6G.�8"� 1.0 ETc �+6G.�=�'����'
�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����
,�=6G.�8"� DE�����=� '����'�"���'61 �=�$�'�J�8"�6�61 �=�*�4��'��,G3)*��8"�4�"�!0� (H����� 12) 7��
�=�'����'�"���'61���=�!9�!0�6��= �� 3� 10:00 �. DE�����=� 730 �(33(7�34=*4������4�4=* (���� 
(H����� 12)) �=�$�'�J�8"�6�61���=�4�"�!0�6��= �� 3� 12:00 �. ���=� -0.6 ��''+��!��3 (H����� 12�) 
F3+�=�*�4��'��,G3)*��8"� ���=�!9�!0�6��= �� 3� 12:00 �. ��=�'�� 7��4.������*�4��'��,G3)*�
�8"�!9�!0����=� 5.3 3(4�4=*��� 7�� !"�G��1��(��:'��6�.�8"�6��*1 �� (8:00 � 16:00 �.) 4.����6G.�8"� 
1.0 ETc ����(��:'��6�.�8"�!9�!0� �*�3��� 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE�����=� 35.23 
32.60 F3+ 31.24 3(4� 4��3"���1 (H����� 12�) 
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,	���� 12 '��4*1!�*����!��� (���6��*1 ��)*� ����� 15 '�'i��� 2549 ��(��:F!� (')  
�=�'����'�"���'61 ()) �=�$�'�J�8"�6�61 (�) F3+�=�*�4��'��,G3)*��8"� (�)  

    (     �     T1 : ,�=��'��6G.�8"�      �     T2 : 1.0 ETc        �     T3 : 0.5 ETc) 
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3. 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	���C�C��
�6�	�	� 

 

3.1 C�C��
�6�	�	� 

 
��''��$E'%���(��:2323(4�8"����!�)*�4.�������������'�����'��'��6G.�8"�4=��K 

�����8 ,�=6G.�8"� (T1) 6G.�8"� 1.0 ETc (T2) F3+ 6G.�8"� 0.5 ETc (T3) 6��= ����*�������-E����*�
'�'i��� 2549 �1 =� 4.������'��6G.�8"� 1.0 ETc 6G.2323(4�8"����!�!9�!0�6��0'K ���*� �*�3��� 
��* 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"�6G.2323(4�8"����!�4�"�!0� (H����� 13)  

����*�(���:�2323(4�8"����!�6�F4=3+���*� �1 =� ���*��(-0����6G.2323(4�8"����!�
6��0'!(����3*��L3���!9�!0� DE���+*�9=��� 100.5 '���4=*4.�4=*���8�'��� F3+6����*���%���6G.
2323(4�8"����!��L3����.*����!0� ��* 84.0 '���4=*4.�4=*���8�'��� (4������� 3) ����*�(���:�2323(4�8"�
���!�!+!�)*�4.����6G.�8"� 1.0 ETc 4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� �1 =���� ��F4'4=��
'�����!-(4(*�=�������!"���# 7��4.�������������'��6G.�8"� 1.0 ETc 6G.2323(4�8"����!�!+!�
!9�!0� �*�3���4.����6G.�8"� 0.5 ETc F3+4.����,�=6G.�8"� DE��6G.2323(4*�9=��� 7.83 6.49 F3+ 6.14 
'(73'���4=*4.�4��3"���1 7��4.����6G.�8"� 1.0 ETc F3+4.����6G.�8"� 0.5 ETc 6G.2323(4�8"����!�!9�
' =�4.����,�=6G.�8"��(����� 28 F3+ 6 ��*�J�DT�4J 4��3"���1 (H����� 14 4������� 3)  
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,	���� 13 2323(4�L3����8"����!� ('���4=*4.�) 6� 3 !(����3*�  
   4�8�F4=���*�������-E����*�'�'i��� 2549 

 
 
 
 
 
 
 
 
 
 
  
 
 

,	���� 14 2323(4�8"����!�!+!� ('(73'���4=*4.�) 6� 3 !(����3*�  
                 4�8�F4=���*������� -E� ���*�'�'i��� 2549 
 

  ns 

b 

a 
ab b b 

a 

a 

b 
b 

b 
b 

a 

a 

b b 

�/710��6�	                              1.0 ETc                             0.5 ETc 
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	���� 3 2323(4�L3����8"����!� ('���4=*4.�) 6� 3 !(����3*� 4�8�F4=���*�������-E� 
   ���*�'�'i��� 2549 

 

!(����3*� 2323(4�L3����8"����!� ('���4=*4.�4=*���8�'���) 23(4!+!� 

  ������ ��%��� �o%H��� �(-0���� '�'i��� (''.4=*4.�) 

T1 90.0 (100) 73.3 (100) 80.8 (100) 86.6 (100) 76.9 (100) 6.14 (100) 

T2 107.8 (120)1 94.7 (126) 101.0 (125) 122.3 (141) 110.6 (144) 7.83 (128) 

T3 93.6 (104) 84.0 (112) 83.0 (102) 92.7 (107) 82.8 (108) 6.49 (106) 

�L3��� 97.1 84.0 88.3 100.5 90.1 6.82 

F-Test ns ** ** * ** * 

C.V. 8.6 5.6 6.3 12.3 7 6.1 
 
G����G40 : ( %)1 �=���*�J�DT�4J)*�23(4�8"����!�����*�����1����1'�1!(����3*���� 1 (T1) 
     * :  ��� ��F4'4=��'�����!-(4(*�=�������!"���#���!-(4(����+��1 P≤ 0.05 
    ** : ��� ��F4'4=��'�����!-(4(*�=�������!"���#���!-(4(����+��1 P≤ 0.01 
    ns:  ,�=��� ��F4'4=��'�����!-(4( 
    �=��L3������'"�'�1�. �*�'%��= �'��6�F4=3+!��HJ,�=��� ��F4'4=�����!-(4(��''�������1����1 
          �����1����1�=��L3���7�� (5� LSD.05  

  
3.2 ���
$�P?�
$���6��	�-0�� 

 
��*�J�DT�4J���8*���FG.�)*����������8� 3 !(����3*� 6��= ����*�������-E����*�

'�'i��� 2549 �1 =� ���*�'�'i��� ���=���*�J�DT�4J���8*���FG.��L3���!9�!0� DE�����=�*�9=�+G =��  
40.90 - 41.22 ��*�J�DT�4J (H����� 15) ����*�(���:�6�F4=3+!(����3*� �1 =� �=���*�J�DT�4J���8*���
FG.��L3��� ,�=��� ��F4'4=��'�����!-(4( 7��4.�����������,�=6G.�8"� 6G.�8"� 1.0 ETc F3+6G.�8"� 0.5 
ETc ���=���*�J�DT�4J���8*���FG.��L3��� 39.75 39.60 39.44 ��*�J�DT�4J 4��3"���1 (H����� 16) 
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,	���� 15 ��*�J�DT�4J���8*���FG.� 6� 3 !(����3*� 4�8�F4=���*�������-E����*�'�'i��� 2549 
  

 

 
 
 
 
 
 
 
 
 
 
 

,	���� 16 ��*�J�DT�4J���8*���FG.��L3��� 6� 3 !(����3*� 4�8�F4=���*�������-E����*�'�'i��� 2549 
 

 

  ns   ns   ns   ns   ns 

  ns 

�/710��6�	                                   1.0 ETc                                 0.5 ETc 
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y = 1.23x + 33.12

R2 = 0.72**
y = 1.12x + 39.53

R2 = 0.46*

y = 0.77x + 50.87

R2 = 0.59**
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��''��G�� ��!�����5J�+G =��*�4��'��,G3)*��8"�'�12323(4�8"����!� �����'��

���'��'��6G.�8"�6���(��:4=��K �= ����*�������-E����*�'�'i��� 2549 �1 =� 4.������'��6G.�8"� 
0.5 ETc ��� ��!�����5J'�12323(4�8"����!�!9�!0� DE�����=�� ��!�����5J (R2) = 0.72 7����!�'��
�!.�4�� y = 1.23x + 33.12 4.����,�=��'��6G.�8"� ��� ��!�����5J�*�3��� ��*���=� R2 = 0.59 ��
!�'���!.�4�� y = 0.77x + 50.87 F3+ 4.������'��6G.�8"� 1.0 ETc ��� ��!�����5J'�12323(4�8"����
!��.*����!0� ���=�   R2 = 0.46 ��!�'���!.�4�� y = 1.12x + 39.53 (H����� 17) 

 
 

               
 
 
 
 
 
 
 
 
 
 
 
 
 
 

,	���� 17  � ��!�����5J�+G =��*�4��'��,G3)*��8"�'�12323(4�8"����  
    (�,              T1 : ,�=��'��6G.�8"�  � ,             T2 : 1.0 ETc �,            T3 : 0.5 ETc) 
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